
①TCA9517 1chip circuit 

I2C 
Master 
Device 

I2C 
Slave 

Device 

TCA9517 
 
 
 

SCLA SCLB 

SDAA SDAB 

Low level input Vlotage 
 = 0.99V 

Cable 120cm 

SDAB,SCLB VOL=0.6V(Max) 

VCCA 
= 5.0V 

VCCB 
= 3.3V VCC = 3.3V 



②TCA9517 1chip circuit 

I2C 
Master 
Device 

I2C 
Slave 

Device 

TCA9517 
 
 
 

SCLB SCLA 

SDAB SDAA 

Low level input Vlotage 
 = 0.99V 

Cable 120cm 

SDAA,SCLA VOL=0.2V(Max) 

VCCB 
= 5.0V 

VCCA 
= 3.3V VCC = 3.3V 

*In the circuit of page2,  
 A-side and B-side are reverse connection  
 than a circuit of page1. 



③TCA9517 2chip circuit 

I2C 
Master 
Device 

I2C 
Slave 

Device 

TCA9517 
 
 
 

SCLA SCLB 

SDAA SDAB 

Cable 120cm 

SDAA,SCLA VOL=0.2V(Max) 

TCA9517 
 
 
 

SCLB SCLA 

SDAB SDAA 

VCCA1 
= 5.0V 

VCCA2 
= 3.3V 

VCCB1 
 = 3.3V 

VCCB2  
= 3.3V 

Low level input Vlotage 
 = 0.99V 

VCC = 3.3V 


